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TNPSC GROUP i MAIN EXAM – 2023 
Mandatory test iII 

UNIT- I: Modern History of India and Indian culture 
UNIT- III: General Aptitude & Mental Ability (SSLC Standard) 

Total Marks: 250              Time: 3 hrs 
 

Section A 
10 x 10 = 100 

Answer the following in 150 words each 
 

1. Safeguarding of the Indian Art Heritage is the need of the moment. Discuss 
,e;jpa fiyg; ghuk;ghpaj;ij ghJfhj;jy; ,d;iwa fhyj;jpd; Njit - tpthjp 
  

2. Why George Joseph was called as Rosapoo Durai? List out his achievements. 
[hh;[; N[hrg; Vd; Nuhrhg;g+ Jiu vd miof;fg;gLfpwhh;? mtuJ rhjidfis gl;baypLf 
 

3. What is CCRT and what are its main functions?  
CCRT vd;why; vd;d? mjd; Kf;fpa gzpfs; ahit? 

 
4. How significant is the diary of Ananda Ranga Pillai in the portrayal of 18th century South 

India? 
gjpndl;lhk; E}w;whz;bd; njd;dpe;jpa MSikfs; Fwpj;J mwpa mde;j uq;f gps;isapd; 
ehl;Fwpg;G ve;jstpw;F Kf;fpaj;Jtk; tha;e;jJ? 
 

5. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. Sarvodaya Movement and its significance. 

rh;Nthjah ,af;fk; kw;Wk; mjd; Kf;fpaj;Jtk; 
 

b. Boodhan Movement and its Objectives. 
G+kpjhd ,af;fk; kw;Wk; mjd; Nehf;fq;fs; 

 
6. Discuss the role played by Bhagat Singh of Tamilnadu for Southern India’s voice for 

freedom. 
njd;dpe;jpahtpd; tpLjiy FuYf;F jkpofj;J gfj;rpq;fpd; gq;fpid tpthjp 
 

7. Trace the sequence of events that led to the removal of the statue of the “Butcher of 
Allahabad”.  
myfhghj; nfhiyahspapd; rpiy mfw;Wk; Nghuhl;l epfo;Tfis tpthpj;J vOJf 
 

8. Write a note on the History and the significance of Saraswathy Mahal Library. 
ru];tjp kfhy; E}yfj;jpd; tuyhW kw;Wk; Kf;fpaj;Jtk; Fwpj;J vOJf 
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9. Answer the following questions 

gpd;tUk; tpdhf;fSf;F tpilasp 
 

a. Arun lent ₹ 5,000 to Balaji for 2 years and ₹ 3,000 to Charles for 4 years on simple interest 

at the same rate of interest and received ₹ 2,200 in all from both of them as interest. Find 
the rate of interest per year.(5m) 
mUz; vd;gth; ghyh[p vd;gtUf;F &.5>000 I 2 Mz;LfSf;Fk; rhh;y]; vd;gtUf;F 
&.3>000 I 4 Mz;LfSf;Fk; xNu jdptl;b tPjj;jpy; toq;fpdhh;. Mf nkhj;jkhf &.2>200 
I tl;bahf mUz ; ngw;whh; vdpy;> tl;b tPjj;ijf; fhz;f 

 

b. Simple interest on a certain sum is 
9

16
 of the sum. Find the rate percent and the time if 

both are numerically equal.(5m) 

xU Fwpg;gpl;l njhifapd; jdptl;bahdJ mrypd; 
9

16
 klq;Ff;F rkk;. tl;btPjKk;> 

tUlKk; vz; kjpg;gpy; rkkhf ,Uf;Fk;NghJ tl;b tPjj;ijAk; tUlj;ijAk; fhz;. 
 
10. Answer the following questions 

gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. Find the principal if the difference between C.I and S.I on it at 15% p.a for 3 years is 

₹1134. (5m) 
15% Mz;L tl;bapy;> 3 Mz;LfSf;F fpilj;j jdptl;bf;Fk; $l;Ltl;bf;Fk; 
,ilNaAs;s tpj;jpahrk; &.1134 vdpy;> mriyf; fhz;f 

 

b. Find the time (in years) in which ₹ 12500 will produce ₹ 3246.40 as compound interest at 
8% per annum, interest compounded annually.(5m) 
Mz;Lf;nfhU Kiw tl;b $lg;gLk; Kiwapy; &.12500 MdJ 8% $l;Ltl;bapy; vj;jid 
Mz;Lfspy; &.3246.40 I $l;L tl;bahf mspf;Fk; vd fhz;f 

 
SECTION B 

10 x 15 = 150 
 

Answer the following in 250 words each 
 
11. “In many ways, Dalhousie was the founder of modern India.” Elaborate his Reforms. 

“etPd ,e;jpahtpd; je;ij ly;`Trp”  mtuJ rPh;;j;jpUj;jq;fis tpthpj;J vOJf 
 

OR 
 
 “Wellesley’s Subsidiary Alliance and Dalhousie’s Doctrine of Lapse leading to annexation 
of more number of Indian territories without war”. – Comment 
“nty;ny];ypapd; Jizg;gilj; jpl;lKk;> ly;`Trpapd; mtfhrp nfhs;ifAk; Nghhpd;wp 
ngUk;ghd;ikahd ,e;jpa vy;iyg;gug;Gfis ,izj;jJ” – fUj;Jiuf;f 
 

12. How far was the Drain Theory acted as a focal point of Nationalist critique on colonialism? 
fhydp Mjpf;fj;jpy; Ruz;ly; nfhs;if ve;j mstpw;F ,e;jpa Njrpathjpfspd; 
tpkh;rdq;fSf;F cs;shdJ? 
 

OR 
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Critically examine how India suffered severe famines and scarcities during the rule of East 
India Company. 
fpof;fpe;jpa fk;ngdpapd; Ml;rpapy; ,e;jpah vt;thW fLikahf gQ;rj;jhYk; 
gw;whf;FiwahYk; ghjpf;fg;gl;lJ vd;gjid gFg;gha;T nra;f. 

 
13. Write a detailed note on the Nellai Uprising and its aftermath. 

ney;iy fpsh;r;rp Fwpj;Jk; mjd; tpisTfs; Fwp;j;Jk; tpthpj;J vOJf  
 

OR 
 
Discuss the role played by Annie Besant in the Home Rule Movement and list out its 
Achievements. 
jd;dhl;rp ,af;fj;jpw;F md;dpngrd;l;bd; gq;fspg;G Fwpj;J tpthjp kw;Wk; mt;tpaf;fj;jpd; 
rhjidfis gl;baypLf. 
 

14. “Unsurpassed by any similar declaration in the annals of India’s freedom struggle, the 
Tiruchirapalli Proclamation constitutes a remarkable document” – Discuss 
“,e;jpa tpLjiyg;Nghuhl;l tuyhw;wpy; ve;j gpufldj;jpw;Fk; ,y;yhj Kf;fpaj;Jtk; jpUr;rp 
gpufldj;jpw;F cz;L” - tpthjp 

 
15. What is C.R. Formula? Highlight its main clauses and mention the reasons for its failure.  

C.R. jpl;lk; vd;why; vd;d? mjd; Kf;fpa gphpTfis $wp mjd; Njhy;tpf;fhd 
fhuzq;fisAk;  Fwpg;gpLf. 
 

16. Narrate the events of Vedaranyam Salt Satyagraha. 
Ntjhuz;ak; cg;G rj;jpahfpuf Nghuhl;l epfo;Tfis tpthpf;f 
 

17. Jawaharlal Nehru though a declared socialist was pragmatic enough to focus on providing 
building blocks to the making of a New India. – Examine 
“[t`h;yhy; NeU mbg;gilapy; xU rkj;Jtthjpahf ,Ug;gpDk; etPd ,e;jpahit 
cUthf;Ftjpy; xU vjhh;j;jthjpahf ,Ue;jhh;” - epWTf 
 

18. Write a detailed note on the valour of Dheeran Chinnamalai in Kongu Region who fought 
against the British East India Company. 
nfhq;F kz;lyj;jpy; Mq;fpNya fpof;fpe;jpa fk;ngdpf;F vjpuhf Nghhpl;l jPud; 
rpd;dkiyapd; jPukpF nray;fis tpthpj;J vOJf 
 

19. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. Divide Rs. 2379 into 3 parts so that their amounts after 2, 3 and 4 years respectively may 

be equal, the rate of interest being 5% per annum at simple interest. Find the three parts 
individually. (7.5 m) 
&.2379I 3 gFjpfshfg; gphpf;f mit KiwNa 2> 3 kw;Wk; 4 Mz;Lfspy; 5% rkkhd 
jdptl;b tPjj;jpy; rkkhd njhifia jUfpwJ vdpy;> me;j %d;W gFjpfisf; 
fz;lwpaTk;. 

 

b. Find the difference in the compound interest on ₹62500 for 
1

1
2

years at 8% p.a 

compounded annually and when compounded half-yearly.(7.5m) 
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8% Mz;L tl;b tPjj;jpy;> tl;bahdJ Mz;Lf;nfhU KiwAk;> miuahz;Lf;nfhU 
KiwAk; fzf;fplg;gl;lhy;> &.62500 f;F 1½ Mz;LfSf;F fpilf;Fk; $l;L tl;bfspd; 
tpj;jpahrj;ijf; fhz;f 

 
20. Answer the following questions 

gpd;tUk; tpdhf;fSf;f tpilasp 
 

a. Valavan  started a factory with an initial investment of Rs. 100000. In the first year, he 
incurred a loss of 5%. However, during the second year, he earned a profit 
of 10% which in the third year rose to 12%. Calculate his net profit for the entire 
period of three years.(5m) 
tstd; 100000 Muk;g KjyPl;by; xU njhopw;rhiyia Muk;gpj;jhh;. Kjy; tUlj;jpy; 
5% e~;lk; mile;jhh;. ,Ug;gpDk;> ,uz;lhtJ Mz;by;> mth; 10% yhgk; <l;bdhh;> 
mJ %d;whk; Mz;by; 12% Mf cah;e;jJ. %d;W tUlq;fs; Kbtpy; mtuJ epfu 
yhgj;ijf; fhz;f 

 
b. Find the compound interest on ₹15,625 for 9 months, at 16% per annum compounded 

quarterly. (5m) 
&.15>625 I 9 khjq;fSf;F 16% Mz;L tl;b tPjj;jpy; KjyPL nra;jhy;> tl;b 
fhyhz;Lf;F xUKiw Nrh;f;fg;gl;lhy;> $l;L tl;biaf; fhz;f 
  

c. A certain sum of money amounts to ₹6,500 in 3 years and ₹5,750 in  
1

1
2

years 

respectively. Find the principal and the rate percent. (5m) 
xU Fwpg;gpl;lj; njhifahdJ 3 Mz;Lfspy; &.6>500 MfTk; 1 ½ Mz;Lfspy; 
&.5>750 MfTk; khWfpwJ. mry; kw;Wk; tl;b tPjj;ijf; fhz;f 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

What is Art? It is the response of man’s creative soul to the call of the Real.” 
— Rabindranath Tagore 
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